o 5t
8 1

SK-4
SK-6
SK-7
SK-8
SK-9
SK-10
SK-12
SK-16

A STRONGHOLD BY PRECISION AND POWER.

SK-6~SK-12= 31°
SK-16=30"

SK
=3 HEEISE (A

3-jaw strong scroll chuck plain back,
2-piece jaws (front and back mounted)

1. @ARBEEHAEERE - BMESESHIE - EMES

REIBEINBEENT  MEXBERSE -
2. FEMal{EIEMA R M -
3. ¥5EZ0.03mm (0.0012”) T.L.R. ©
4. REMBERAREMEE  ERRSEEH; BRER—K

MEMB A -

2L
Back Mounting
/

?

%
@D

DA

\_Front Mounting

AL

BB : mm

19 316 8

112
167
192
200
232
273
310
405

58
67
76.5
76.5
84
87
96
122

80
130
155
160
190
230
260
345

95
147
172
176
210
250
285
375

32
45
58
58
70
89

105

160

4.8
5.5
5.5
5.5
6
8

3-M8 / 3-M8x65
3-M10 / 3-M10x70
3-M10 / 3-M10x80
3-M10 / 3-M10x80
3-M12/3-M12x90
3-M12 /3-M12x90

7 3-M12/3-M12x110

8.7

— /6-M14x130

47
72
81.2
82
90.9
100.5
114.5
148.6

26
28
28
32
35
40
50

40.2
42
42

51.2

56.7

56.8

76.1

10

4.5
9.0
11.0
11.0
15.0
1915
21.0
25.0

1200
2200
2500
2500
3000
4000
4200
4500

2500
2000
2000
2000
2000
1800
1800
1500

3.8
9
13.8
155
22
29.7
43.5
98

0.03
0.06
0.07
0.16
0.26
0.58
1.72

@3-095 / @29-084
@4-0160 / @55-0150
8-0180 / ©62-@170
@8-0190 / ©68-0180

@11-0220 / @70-0210
012-0260 / ©80-0250
@15-@300 / ©90-0290
@30-2380 / @110-0360





